






7.  (contd…) 

1-  When both diodes are off: 
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2- The required input voltage to create the “ON” voltage at the cathode of D2 (let's call it VA): 

 

When diode hasn't switched yet,  
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We know VA should be VA <-2.3-0.7=-3 (note not -1.6) to switch D2 “ON” 

Therefore vin<-6 for switching D2 “ON” and vout=-3 

3- Now, the required input voltage to create the “ON” voltage at the Anode of D1 (let's call it 
VA again, it is the same node): 



 

When the diodes are still off, 
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We know VA should be VA>2.3+0.7=3 to switch D1 “ON” 

Therefore vin>6 for switching D1 “ON” and vout=3 
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